Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER-C to D Bridge Course EXAMINATION -
Winter- 2019

Subject Code: C300001 Date: 01-01-2020
Subject Name: Basic Mathematics
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
. Make Suitable assumptions wherever necessary.
. Figures to the right indicate full marks.
. Use of programmable & Communication aids are strictly prohibited.
. Use of only simple calculator is permitted in Mathematics.
. English version is authentic.

OV WN

No. Question Text and Option. Us< i [Aseyl,

log,8=___ .

1. A 2 B. 8§
C. 3 D. 4
log,8=__ .

.. A 2 B. 8§
C. 3 D. 4
If log,125=3 then X = .

2. A 2 B. 5
C. 3 D. 0
orllog 125=3 «iadl, X =

2. A2 B. 5
C. 3 D. 0
If log,3=1then X =__

3. A 1 B. 2
C. 3 D. 0
ol log,3=1 «lAdl, X =

3. A1 B. 2
C. 3 D. 0
log,16-log,4 = .

4. A 1 B. 2
C. 12 D. 14
log,16—-log, 4= .

Y. A1 B. 2
C. 12 D. 4
log,3*log,2 =

5. A 1 B. 2
C. 6 D. 5
log,3*log,2 = .

u. A1 B. 2
C. 6 D. 5

6. log,(&)=___
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10.

0.

11.

4.

12.

<.

13.

>

1
C. 1}
log, (&) =
A 1
C. 3
If log,(log, x)=1 then, x =
A. 8
C. 6
o¥l log,(log, x)=1 €iA dl, X
A. 8
C. 6
log,a+log,b=___ .
A. log,alog.b
C. log,(ab)
log,a+log,b=__ .
A. log,alog.b
C. log,(ab)
3Iog31:
A 3
C. 6
3Iog31:
A. 3
C. 6
log..(&£)-og (2)+ log (&) =
A 0
C. log,(abc)
log..(&£)-log (2)+ log () =
A 0
C. log,(abc)
1 [X Y_g then, x =
2 4
A 2
C. 1
s X Yo @ndi x =
2 4
A 2
C. %
Value of [l09:2 4 —W is=_
log,,3 1
A 3
C. 4
(s [log, 4 —W Al BHd =
log,3 1
A 3
C. 4
Value of cosecd cotd is =
cotd cosecd
A 2

o

@

a1 N

o1 N

log, a
log . (a+Db)

log, a
log . (a+Db)

1
2log, (abc)

1
2log, (abc)
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3.

14.

Y.

15.

u.

16.

e.

17.

9.

18.

c.

19.

C. 1

[qe2yny [cOsecod  cotd
cotd cosecd,

A 2

C. 1

Valueof [' 2 9 is=
4 0
780

A 21

C. 13

EEDTOP i 2 0 4l By =
780

A 21

C. 13

Order of {2 4 ‘Z}is:
30 -1

A. 1x3

C. 3x2

Al {2 4 ‘2}[1 S8l =

30 -1
A. 1x3
C. 3x2

Orderof [0 0 0 O0lis=
A. 1x4
C. 4x1
duso 0 0 o]l sal=
A 1x4

C. 4x1
A= 10 isa matrix.
01
A. Zero
C. Row
Aois A{l 0} 3t
01
A g
C. wr
If Ais symmetric matrix then A=
A —A
C. 1
ol 405 Adld Al i dl, A=
A -A
C. 1

IfA{1 3}and B:F 0
0 -2 0

A. 2 3
pl
C. 00
o o
MA:F 3} {1 0
0 -2 01
A 2 3
el

Al (fud =

Alis 5.

} then, A+B=

2x3
1x2

2x3
1x2

2x2
4dx4

2x2
4x4

Unit
Colu

BIsH,

2d®™,

AT
—AT

mn
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20.

L0,

21.

9.

22.

2.

23.

<3.

24,

Y.

25.

0 -2
A 2 3 B 2 3
03 0 -1
C. [-1 1 D. [-1 12
0 -10 0 10
2l A{l 3 } Bz[l _2} S dl, 2A-3B =
0 -2 0 2
A. 2 3 B. 2 3
03 0 -1
C. [-1 1 D. [-1 12
0 -10 0 10
0 -3 T_
If ads 1 then, A’ =
3 -2
A |0 -3 B 03
2 -1 -2 1
3 -2 -3 2
C. 023 D. 02 -3
-3 -1 -2 -3 -1 -2
5 3] s AT
oL |, ebtdl AT=
3 -2
A |0 -3 B. 03
2 -1 -2 1
3 -2 -3 2
C. 023 D. 02 -3
-3 -1 -2 -3 -1 -2
If A, and B,,,then, numbers of elements in AxBijs =
A 0 B. 5
C. 4 D. 6
ol A, 2 B, , 814 dl, AxXBayuzsidl v =
A 0 B. 5
C. 4 D. 6
If A, and B, then, order of the matrix AxB is= :
A, 1x3 B. 2x3
C. 3x1 D. 1x2
ol Ay, ¥ B, sl dl, glbls AXB ] sa1 = :
A, 1x3 B. 2x3
C. 3x1 D. 1x2
If Ais singular matrix then,
A A=AT B. |A|:O
C. A=-AT D. A=
o4l A1, §L[I\§L& SlA dl,
A A=AT B. |A|:O
C. A=-A D. A=

If A:{O _1}then A'=
1 0

|

|
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L.

26.

Le.

27.

9.

28.

L.

29.

.

30.

30.

31.

319.

A 0 -1 B 1 -1
10 1 1
C 10 D 1 0
11 0 1
o A= {O _1} g dl, A=
1 0
A 0 -1 B 1 -1
1 0 1 1
C 10 D 10
11 01
a b .
If Az{ } then, adj(A)=
c d -
A. ad-bc B. a-b
C. bc-ad D. 0
~ a ~ .
A= { } ¢l dl, adj(A)= .
A. ad-bc B. a-b
C. bc-ad D. 0
If for square matrix A, A>—A—1=0 then A=
A A-1I B. A+l
C. 1-A D. 1|
41y lbs ARiz,orl A —A-1=0 ¢iadl, A'= :
A A-1I B. A+l
C. 1-A D. |
Solution of the system of equation 2x+3y =5and 2x-3y =-lis=_
A 1L-2) B. 12
C. @-1 D. 1)
uHlsz0 dld 2x+3y =524 2x -3y =-141 G54 = .
A (1L-2) B. (12
C. (1L-) D. (1)
2z = degree.
A. 210 B. 120
C. 360 D. 240
%= w4,
A. 210 B. 120
C. 360 D. 240
45° = radian.
Az B. =z
C. =z D. =z
45°= 33,
Az B. =z
C. =z D. =z
cos(2)-sin(z)-cos(z) = .
A 2 B. 0
C. 1 D. -1
cos(g)-sin(5)-cos(5) =
A 2 B. 0
C. 1 D. -1
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32.

3<.

33.

33.

34.

37.

35.

3u.

36.

3.

37.

39.

38.

3<.

39.

3.

cos(3-6) =

A. cosé B. —cosé
C. sin@ D. -sing
cos(3-6) =

A. cosé B. —cosé
C. sin@ D. -sing
If 7 <6 < 3#then, the trigonometric ratio which is positive is =
A. cosé B. tané@

C. sin@ D. Al

ol < 6 <32 s dl, Bistadx ol Hel €9,

A. cosé B. tand

C. sin@ D. Al
sin®21° +sin*69° =

A 2 B. 0

C. 1 D. -1
sin®21° +sin*69° =

A 2 B. 0

C. -1 D. 1

sin ()=

A =z B. z

C. =z D. =z

sin ’1(%) =

A = B. z

C. =z D. =z

If cos@=¢ then, sing=

At B. ¢

c. 2 D. $

6L cos@ =4 A dl, sin =

A B. ¢

c. s D.
sincosf+cosasin f =

A. sin(a-p) B. cos(a-p)
C. cos(a+p) D. sin(a+p)
sinacos B +cosasin f =

A. sin(a-p) B. cos(a-p)
C. cos(a+p) D. sin(a+p)
1-2sin’6 =

A. sin26 B. cos26
C. tan26 D. 2sing
1-2sin’@ =

A. sin20 B. cos20
C. tan26 D. 2sinéd
If A+ B =Zthen, tan(A+B)=

A -1 B. 0

C. 1 D.

o5l A+B =2 ¢iddl, tan(A+B)=

A -1 B. 0

C. 1 D.

6/11



40.

¥O.

41.

v9.

42.

TR

43.

¥3.

44,

Y.

45,

wu.

46.

.

47.

¥9.

tan(A-B) =

A tanA-tanB
' 1-tanAtanB

C. tanA+tanB
l+tanAtanB

tan(A-B) =

A tanA-tanB
' 1-tanAtanB

tanA+tanB
l+tanAtanB

tan*(2)+ tan™(

A tan(3)
C tan()

tan*(2)+ tan™(

A tan(Z)

The principal period of sin 2x =

Sin 2x < HuA UL =

C an@)
A
C. 2«
A
C. 2«
2sin(5z)cos(Zz)
A 1
c. 1

5

2sin(3z)cos(Zz)

A 1
C. 3

cos(rr +cos™ )

A.
C.

N ol

cos(z +cost2) =

The principal period of tanx =

tan X < Hod AU =

A2

c. ¢

A

C. 2x

A

C. 2n
cot(225°) -
A 1

c. -1
cot(225°) _
A 1

c. -1
2i—4j+4k| =
A 1

C. 6
2i-4j+aK =
A 1

@

@

tanA-tanB

l+tanAtanB

tanA+tanB

1-tanAtanB

tanA-tanB

l+tanAtanB

tanA+tanB

1-tanAtanB
-1

tan (L)
-1 ﬁ)

tan (2
-1 11

tan” (%)
1 A)

tan (11

3

2

3z

0

-1

2

0

-1

2

-3

5

-1

2

=3

5

=1

2

3

2

3

2

0

=1

2

0

=1

2

2

10

2
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48.

.

49,

Y.

50.

Yo,

51.

uq.

52.

u.

53.

u3.

54,

uy.

55.

C. 6 D. 10

If x=(3,2)and y=(-1,3,2) then Xx—y =

A. (2,53 B. (2,-1,-1)

C. (4,53 D. 4,-13)

ol X=(3,2D)ud y=(-132) ¢ladl, X—y = .

A (2,5,3) B. (2-1,-1)

C. (4,53 D. (4,-123)

Unit vector in the direction of a=(0,-1,0) is=

A, (0,-1,0) B. (0,1,0)

C. @1 D. (0,0

Az a=(0, -1, 0) -l leauni isu ulza =

A. (0,-1,0) . (0,1,0)

C. @L1) D. (10,0

If X=(,0,0)andy=(0,0,1) then Xey = .

A 1 B. 2

C. 0 D. -1

o/l X=(,0,0)24 y=(0,0,1) slndl, Xey=__ .

A 1 B. 2

C. 0 D. 1

ixj=_

A i B. jxi

C. k D. -k

ixj=

A -] B. jxi

C. k D. -k

If x=i+3]—2kandy=4i —2]j—k then angle between X and yis=_
A B. 0

c. =z D. =z

ol X=1+3] -2k 24 y=4i —2] -k <ltdl, X v YaAdlvol=_
A B. 0

c. =z D. =z

If vector X =2i +3j—k and y =ai — j+3k are perpendicular to each other then a=_.
A. 3 B. 2

C. 0 D. -1

ol uleal X =21 +3]—k wdulco y=ai — j+3k uzuzdolsindl, a=_.
A. 3 B. 2

C. 0 D. -1

If Xxy=i-2j—2k then yxX=

A T-2j-2 B. —i+2j-2k

C. i+2j+2k D. —i+2j+2k

ol Xxy=i-2]—-2k ¢ladl, yxX=__

A T-2j-2 B. —i+2j-2k

C. i+2j+2k D. —i+2j+2k

If the vector X =1+ j—2k andy =i —2] +k represents two adjacent sides of




.

56.

S7.

u9.

58.

uc.

59.

U,

60.

<0.

61.

<9.

parallelogram, then the area of the parallelogram =

A 0 B. 50
c. 7 D. /27

C ~

AL AU X =T+ J—2K 2l =1 —2] +k Uuidousy Adrsiildl uduia-il ousysil caid dl,
UHIAROUSY Adbslll E150 =

A. 0 B. 50

C. 7 D. 27

If X=(1,0,0)andy =(0,0,1) then vector perpendicular to X and y both is = :
A. (0,-1,0) B. (0,1,0)

C. (10} D. (10,0

o X=(10,002d ¥=(0,0,1) Slddl, Xudy dAuzuzdo dlea=_ |
A. (0,-1,0) B. (0,1,0)

C. (1,0)D D. (10,0

If x=(2,1,1) and y = (1, —1, 2) then, Direction cosines of x-2y =

A 1(0,-1-3) B. (03,3

C. -£(0,-33) D. -L(3-33)

ol X=(2,10) vd y=(1, -1, 2) lddl, x-2y i [es-si14 =
A L(0-1,-3) B. -£(0,3,-3)

C. —4(0,-33) D. +(3-33

Force F =(5,1,0)acts on a particle and the particle moves from (2,1,-3)to (4, -3,7)
then, total work done =

A 3 B. 24

C. 0 D. 6

o0 F =(5,1,0) Il 2142 ¢sn 5@ (2,1,-3)4l (4, —3,7) Yl 2aUdid2 5269 dl, 56 244 514

A 3 B. 24

C. 0 D. 6

A particle moves from the point 2i — j —3k to the point 4i —3j + 7k under the effect of
forces3i+2j+3k and 2i+ j—3k then, total work done=____

A 4 B. 2

C. 14 D. 6

215 50U 30+ 2] + 3k 2Ael 2i+ j — 3k oAl ALLAL, A [olg, 2i — j— 3k 4l [6ig, 4i —3j + 7k 425
AUl 52 dl, sd 2 s =

A 4 B. 2
C. 14 D. 6
The area of the equilateral triangle, whose sides are acmis=___
A. 43_2 B. az
C. % D. @
oy<{l ollsy< Hiva cmsid, ddl AHollsy Bistud g =
A. 432 B. a?
C. s D. @t
V3 4
The area of the circle with radius 7cm is=__ cm?.
A 14 B. 154
C. 49 D. 164
7cm B adad dssn = cm?,
A 14 B. 154
C. 49 D. 164
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62.

<.

63.

<3.

64.

<.

65.

<u.

66.

67.

<9.

68.

<l.

69.

<.

70.

Curved surface area of the cylinder with radius 1cm and height 7.cm is= cme.

A 14 B. 22
C. 44 D. 154
Lem BiswtL 214 7 cm Glusainl nsizl asduizld axasn = cm?,
A 14 B. 22
C. 44 D. 154
Surface area of the cuboidsis =
A. l+b+h B. Ih+bl+hb
C.  2(Ih+bl+hb) D. Ibh
Aol uBsn = .
A. l+b+h B. Ilh+bl+hb
C. 2(lh+bl+hb) D. Ibh
If perimeter of the square is 12 cm then the area of the square is=_____cm?.
A. 3 B. 12
C. 9 D. 24
ol AUl uzlHldl 12 cm Gia dl, Al sz = cm?,
A. 3 B. 12
C. 9 D. 24
Volume of the cone with radius 3cm and height 7cm is=___ cm®,
A. 66 B. 22
C. 4 D. 154
3cm Bieral 2147 em Glaudaio dgd adsn=__ cm®.
A. 66 B. 22
C. 4 D. 154
Volume of the sphere whose radiusis r =
At B. %”ﬂ
C. 4z D. 2zr°
I Qornalon ollas adsn =
Al B. %”ﬁ
C. sz D. 2zy?
Curved surface area of the hemisphere is=___ .
A 2xr? B. 3zr?
C. 4nr® D. 4zrr?
wlAsAl asuuzld ads =
A 2xr? B. 3zr?
C. dxrd D. 4rr?
1mé=__ litre.
A 1 B. 1000
C. 100 D. 10
1mi=_ [(q2=
A 1 B. 1000
C. 100 D. 10
Area of the triangle whose sides are3cm, 4cm and 5¢m is=_ cm?.
A 1 B. 12
C. 6 D. 16
oy<il ollsy il AL HIW 3em, 4cm 24 5em Gl ddl Rsiad sz = cm?.
A 1 B. 12
C. 6 D. 16
A tank of length 1m, breadth 2m and height 5m can store litre water.
A. 10 B. 11

2
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C. 8 D. 16

1m dous, 2m usioil 244 5m Gil zislui (@22 ull 2.
9o. A. 10 B. 11
C. 8 D. 16

*khkhkhkhkhkhkhkkhkhik
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